(8)

(h) Explain why there is no supply curve
under monopoly. Explain the case
of dumping in international price
discrimination. 5+5=10
GEoBa IERS @A @9 R IR TR,
Sl S IR cE G I GRS R
CFIS TIP16T AIFEACH! AT 41 |

() Describe how a monopolist will
discriminate the price in the markets
with different elasticities of demand
and attain equilibrium. 10
751 fom viftw Rfdwrrre 2w TwRe Reswd
GBI ITES (WA S S,
ICEAm 4T |

() Compare and contrast Bertrand
and Stackelberg’s equilibrium tnder
oligopoly. 10
FRTOR WES IFGES AE  EPeRIR
SRAMNE TEAI S AT (YA |
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1. Answer the following questions (any ten) :
1x10=10
@] 2pTRs Ted ol (R cemeen wedl)

(a) What is social indifference curve?

e Raeers @ 2

(b) Define property rights.
Tl SR sige fud |

() What is monopoly power?
GFofba I =& 2

22A/1119 ( Turn Over )



(d)

(e)

(9)

(h)

0)

(k)

(2)

What is product differentiation?
A Reshiesd e & @2

Define saddle point.
“femet e et fran o

What is payoff matrix?
offn (e 2

In what type of market we get
asymmetric information?

@ AR ISTES PG A1 R AR
T2

Give an example of positive externality.
aft e AR Trrzae i |

'
What is first-degree price
discrimination?

g qra| 71 Resw Ifecet & gam 2

What is the basic difference between
oligopoly and duopoly?

WRFeR IER TF FEFR IGEE TGO
N 2

What is shutdown point?
wam R 2
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(3)

() Define cartels.
Tesfm ke viget fiar |

(m) What is exclusivity?
3fegaa Jferca 6 gam 2

(n) Write one difference between private
goods and public goods.

e T WF HIFR GIR &S ol “A1LF
foram o

(o) State Bertrand’s model of oligopoly.
AL FHRCFOR IS T IS 341 |

2. Answer the following questions (any five) :
2x5=10
weq epTEd Teq ot (R e =fiob)
(a) Define Pareto efficiency.

(oD’ PO FR il |

(b) Write two features of public goods.
qrerzal B Kol CArIe fer |

(c) How does concentration ratio determine
degree of monopoly power?

@RI TS I Jwd e Tl
@ e e ?
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(d) What is ‘two-person zero-sum’ game?
“72-3G -’ (3 2

(e) What is meant by signaling in
a market?

G TS e B g 2 (

() Distinguish between production
efficiency and exchange efficiency.

TeomE wwel WE R wEeR e A1
foram

(g9 What are minimax and maximin
strategies?

‘Ffo’ o ‘s @@ 2
(h) What is third-degree price
discrimination? : ’

To T @ Rrenead 2

3. Answer the-following questions (any four) :
5x4=20
oo 2pTEd T et (R e wifeot) «

(a) Explain how efficiency can be achieved
in exchange through Edgeworth box
diagram.

eeyefq Iy Bew a| [ e @
A #{1F, I 40
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(b)

()

(d)

(e)

(9)

(S)

Briefly explain the causes of market
failure.

I RFeror FRPTR BT I 0 |

Explain the concept of excess capacity
under monopolistic competition.
GNP TGRS TeweE  SfeRE  HAOR
YIRETICHT T 40 |

When is price discrimination possible
and profitable? Explain.

" Restiesd e 57 9F weewe = ?
[ 0

Explain the concept of Prisoner’s
Dilemma.

PRI R GIECH! A0 FA0

Distinguish between perceived and
proportionate demand with the help
of a diagram.

g w@ weRfFe wF wEAfes o
{IETCH! T 41 |

Explain how the growth of monopoly
power can lead to market failure.

GFHA IERE SeAfeE @ ER [geaer
8 33, I 40 ,
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(6)

(h) Do you think monopolist always

earns supernormal profit? Justify
your answer.

GO WY [T S TR @
S PR ? (R Tesq I |

{

. Answer the following questions (any four) :

10x4=40

S ePTRR Teq o (R e wif)

(@)

(b)

(c)

22A/1119

What is production-possibility frontier
(PPF)? How can resources be allocated
efficiently through PPF? State Pareto’s
third condition for optimality. 2+6+2=10

Tesima seifde @ (1. 1. @%.) &2 Seomm
RSl @R EEe W Rewd @
THed IRI MR (RIAB'T WATEN  Y=RAT
T HECH! o | ’

State and explain Coase’s theorem.
What are the limitations of Coase’s
theorem? 6+4=10

F6'T OGO IE TF PR I | @2 GRAR

SaerTz & &2

How can monopoly power be controlled
and regulated? Explain. 10

GICHHA ITRT e @eme Fagd we aRifte
FRI 2N 2 0 4 |

( Continued )

(d)

(e)

(9)

22A/1119

L2)

Explain how prices and output can
be determined under monopolistic
competition in the short run and
long run. 10

GHEPR ITRC & F TLAE THIETS
TS @ e S «nf, e w41 1

Explain diagrammatically Cournot’s
model of duopoly equilibrium. 10

901 S ST fEehT e 4

Write two applications of game theory.
Explain the method of solving
a two-person zero-sum game. What are
the limitations of game theory? 2+6+2=10

A oG o1 el o1 @b R X-
@FE (48 (FCWMCA I IR 1R,
41 | (491 ©&F SEIRIRER TraEe 941 |

What is information asymmetry? How
does information asymmetry affect
business? Give two examples of
markets where information asymmetry
prevails. 2+6+2=10

AR SRSl F27 PAR PO IS
M AR R ? O PR PRS2
IR TR fiar |
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